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import sympy as sp
X = sp.Symbol('x’)

# (a)
fx = x**3-3*x+2

print(“F(x)=",sp.integrate(fx,x))

# (b)
fx = sp.exp(x)-1/x
print("F(x)=",sp.integrate(fx,x))

# (c)
fx = ((x+1)**2)*(x-2)
print("F(x)=",sp.integrate(fx,x))

# (d)
fx = (3**x-1)**2
print(“F(x)=",sp.integrate(fx,x))

# (e)
fx = (sp.sin(x))**3
print("F(x)=",sp.integrate(fx,x))



# (f)
fx = (x**2)*sp.log(x)
print("F(x)=",sp.integrate(fx,x))
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import sympy as sp
X = sp.Symbol('x’)

# (a)
fx = 1/(x*(x+1))
print("F(x)=",sp.integrate(fx,x))

# (b)
fx = (2*x-3)/(x**2-3*x+2)
print("F(x)=",sp.integrate(fx,x))
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import sympy as sp
X = sp.Symbol('x)

# (a)
fx = (sp.exp(2*x)-1)/(sp.exp(x)+1)
print("The answer is " sp.integrate(fx,(x,0,2)))



# (b)
fx = sp.Abs(sp.sin(x))
print("The answer is " sp.integrate(fx,(x,-sp.pi,sp.pi)))

# ()

fx = x*sp.sqrt(x**2+2)

print("The answer is " sp.integrate(fx,(x,1,3)))
# (d)

fx = sp.exp(x)*sp.sin(x)
print("The answer is " sp.integrate(fx,(x,0,sp.pi/2)))
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import sympy as sp

X = sp.Symbol('x’)
a = sp.Symbol(‘a’)
alpha = sp.Symbol(‘alpha')
beta = sp.Symbol('beta’)

fx = a*(x-alpha)*(x-beta)
print("The answer is ", sp.factor(sp.integrate(fx,(x,alpha,beta))))
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import sympy as sp
X = sp.Symbol('x’)

fx = sp.sqrt(1-x**2)
print("The answer is ", sp.integrate(fx,(x,0,1)))
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